Times Tables Crossword Puzzle
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	Across:

  1  16005  /  5

  3  5324  /  4

  4  1176  X  2

  6  6555  /  5

10  1001  X  3

13  2469  X  5

15  2323  X  10

17  3120  /  2

18  5000  X  10
20  8022  X  10


	22  365  X  4

23  3900  X  2

24  5220  /  3

26  6536  /  2

28  523   X  4

30  8304  /  2

33  5075  /  5

34  8644  /  2

35  3007  X  2


	Down:

  1  9333  /  3

  2  3294  /  3

  4  671  X  3

  5  2600  X  2

  7  12608  /  4

  8  5856  /  4

  9  7392  X  10

11  705  X  5

12  9934  X  10

13  1895  X  10
14  710  X  5


	16  8040  /  4

17  622  X  3

19  1700  X  3

21  512  X  4

24  628  X  3

25  811  X  4

27  6585  /  3

29  500  X  5

31  8200  /  5

32  6330  /  5




Times Tables Crossword Puzzle  -  Solution
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This puzzle was compiled in seconds using Toolbox.

For a free trial go to www.discoveryeducationalsoftware.co.uk/toolbox_e.htm
